
Cover of K108 Standing Chest Press



General Assembly Drawing of K108 Standing Chest Press Item No. Part No. Quantity

1 K108-01 Front Base Welding Group 1

2 K108-02 Side Base Welding Group Left 1

3 K108-03 Side Base Welding Group Right 1

4 21 42 43 4 K108-04 Boom Welding Group 2

5 K108-05 Back Base Welding Group 1

6 K108-06 Bending Handle Welding Group 2

7 K108-07 Cantilever Welding Group Left 1

8 K108-08 Cantilever Welding Group Right 1

9 K108-09 Cantilever Connection Welding Group 1

10 K108-10 Lower Connection Pipe Welding Group 1

11 K108-11 Backrest Welding Group 1

12 K108-12 Limit Welding Group Left 1

13 K108-13 Limit Welding Group Right 1

18 14 K108-14 Cover Plate Welding Group 2

15 K108-15 Large Hook Plate Welding Group 1

6
16 K108-16 Small Hook Plate Welding Group 1

17 K108-17 Large Pedal Welding Group 1

35 18 K108-18 Straight Handle Welding Group 4

26 19 K168-13 Barrel Welding Group 2

23
41 20 K108-2001 Assembly Plate 1 2

21 K108-2002 Large Backrest 1

8 11 22 K108-2003 Nylon Spacer 4

23 K108-2004 Connecting Rod 658mm 2

24 24 K108-2005 Connecting Rod 580mm 2

25 K108-2006 Connecting Rod 842mm 1

29
33

26 M12 Right-hand External Threaded Spherical Plain Bearing 4

27 M12 Left-hand External Threaded Spherical Plain Bearing 4

20 28 K8-5022 Convex Aluminum Alloy End Cover 2

14 19 29 HM-5080 Powder Metallurgy Sleeve 12

30 K108-2007 Shaft 6

30 9 31 K8-5023 Flat Aluminum End Cover 12

32 3 32 S1633 Cap φ25 2

33 Cap Nut M16 34

17 27 34 Flat Washer Φ16 76

35 Flat Washer Φ12 17

28 5 36 Hexagon Socket Button Head Screw M10X20 18

15
34 37 Hexagon Head Bolt M16x100 24

38 Hexagon Head Bolt M16x125 10

1
39 Hexagon Head Bolt M16x75 4

40 Lock Nut M16 4

41 Hexagon Head Bolt M12x30 18

36 25 2 44 22 7 13 38 31 10 39 12 45 37
42 Flat Washer Φ8 3

43 Hexagon Socket Head Cap Screw M8x25 3

44 M12 Right-handed Hexagon Nut 4

45 M12 Left-handed Hexagon Nut 4



K108-01Front Base Welding Group

2 3 1

Item No. Part No. Quantity

1 K108-05

Rear Base Welding Group

1

2 HM-6001

Square Pipe Plug 75x75

2

3 HM-6007

Universal Floor Mat

2



K108-02 Side Base Welding Group Left

1 5 4 2 3

Item No. Part No. Quantity

K108-02 Side Base Welding

Group Left
HM-5046
Square Cushion Pad 30mm

Hexagon Socket Head
Cap Screw M10X30

BQ-4003
φ50Aluminum End
Cap

Hexagon Socket
Countersunk Head
Screw M10x20

1 1

2 1

23

4 1

15



K108-03 Side Base Welding Group Right

2 3

1 4 5

Item No. Part No. Quantity

1 K108-03 Side Base Welding Group Right 1

2 HM-5046

Square Cushion Pad 30mm

1

3 Hexagon Socket Head Cap Screw

M10X30

2

4 BQ-4003 φ50 Aluminum End Cap 1

5 Hexagon Socket Countersunk Head Screw M10x20 1



K108-04 BoomWelding Group

1

3

2

Item No. Part No. Quantity

1 K108-04 Boom Welding Group 2

2 Deep Groove Ball Bearing 6205

Φ52xΦ25x15

4

3 HM-6001 Square Pipe Plug

75x75

2



K108-05 Back Base Welding Group

3

1

2

Item No. Part No. Quantity

1 K108-05

Back Base Welding Group

1

2 HM-6007

Universal Floor Mat

2

3 HM-6001 Square Pipe Plug

75x75

4



K108-06 Bending Handle Welding Group

2 4 3 1

Item No. Part No. Quantity

1 K108-06 Bending Handle Welding Group 2

2 K108-2015 Handle Tearproof 2

3 K8-5026

Handle End Cap (Aluminium Alloy)

4

4 Hexagon Socket Set Screw M5x4 8



K108-07 Cantilever Welding Group Left

6 5

3

7 2 4 1

Item No. Part No. Quantity

1 K108-07 Cantilever Welding Group Left 1

2 BQ-4003

φ50 Aluminum End Cap

1

3 Deep Groove Ball Bearing 6205

Φ52xΦ25x15

2

4 Hexagon Socket Countersunk Head Screw

M10x20

1

5 HM-6003 Protective Sleeve 1

6 HM-6004 50 Round Pipe Plug 2

7 HM-6001 Square Pipe Plug

75x75

2



1

3

1

K108-08 Cantilever Welding Group Right

2

5

4

1

3 6 7

1

1

2

27
6

Item No.

5

Part No.

4

Quantity

HM-6004 50 Round Pipe Plug

HM-6003 Protective Sleeve

Hexagon Socket Countersunk
Head Screw M10x20

Deep Groove Ball Bearing
6205 Φ52xΦ25x15

HM-6001 Square Pipe
Plug75x75

1

2

2

BQ-4003
φ50 Aluminum End Cap

K108-08
Cantilever Welding Group Right



K108-09 Cantilever Connection Welding Group

Item No. Part No. Quantity

1 K108-09 Cantilever Connection Welding Group 1



K108-10 Lower Connection Pipe Welding Group

Item No. Part No. Quantity

1 K108-10 Lower Connection Pipe Welding Group 1



K108-11 Backrest Welding Group

1 2

Item No. Part No. Quantity

1 K108-11

Backrest Welding Group

1

2 HM-6001

Square Pipe Plug 75x75

1



2
HM-5046
Square Cushion Pad 30mm

Hexagon Socket Head Cap
Screw M10X30

Deep Groove Ball Bearing
6205 Φ52xΦ25x15

K108-12 Limit Welding Group Left

3

2

1

4
Item No. Part No. Quantity

Hexagon Socket Head Cap
Screw M8x16

HM-5037 Limit Sleeve 2

1 1

1

23

5

K108-12
Limit Welding Group Left

24

2

6



1

2

K108-13 Limit Welding Group Right

3

2

1

4

Item No. Part No. Quantity
6 K108-13

Limit Welding Group Right

5 HM-5046
Square Cushion Pad
30mm
Hexagon Socket Head Cap
ScrewM10X30

Deep Groove Ball Bearing
6205 Φ52xΦ25x15

Hexagon Socket Head Cap
Screw M8x16

6 HM-5037 Limit Sleeve 2

1

1

3 2

4 2

5 2



K108-14 Cover Plate Welding Group

1 2

Item No. Part No. Quantity

1 K108-14

Cover Plate Welding Group

2

2
Deep Groove Ball
Bearing 6205
Φ52xΦ25x15

4



K108-15 Large Hook Plate Welding Group

3
2

1

Item No. Part No. Quantity

1 K108-15 Large Hook Plate Welding Group 1

2 HM-5045 Pedal Sleeve 1

3 HM-5081 Round Pipe Plug Φ30 1



K108-16 Large Hook Plate Welding Group

Item No. Part No. Quantity

1 K108-16 Large Hook Plate Welding Group 1



K108-17 Large Pedal Welding Group

1

2

3 Item No. Part No. Quantity

1 K108-

17 Large Pedal Welding Group

1

2 K108-2008

Stainless Steel Pedal Plate

1

3 Oval Head Semi-tubular Rivet

Φ5x10

8



K8-5025
Handle Front Cap (Aluminium Alloy)

QuantityPart No.

1

Hexagon Socket Set Screw M5x4

K8-5026
Handle End Cap (Aluminium Alloy)

K108-18 Straight Handle Welding Group

5 4

1 3 2

5 K108-2016 Handle Tearproof 4

43

44

Item No.

4K108-18 Straight Handle Welding Group

162



K168-13 Barrel Welding
Group

3

1 2

Item No. Part No. Quantity

1 K168-13 Barrel Welding Group 2

2 HM-6003 Protective Sleeve 2

3 HM-6004 50 Round Pipe Plug 2


	Cover of K108 Standing Chest Press
	K108-08 Cantilever Welding Group Right
	K108-12 Limit Welding Group Left
	K108-13 Limit Welding Group Right
	K108-18 Straight Handle Welding Group

